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PLC

89 89

10.0
10.1

89 89
8 9

U0 w >

Q0.0
Q0.1
Q0.2
Q0.3

89

89

Q0.4
Q0.5
Q0.6
Q0.7
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LD

10.0

® ®
FO QB
® ®
O ¢ O
0000
0 0
EQ QC
0 0
O 4, O

OO0O00 OH

2-1

31 ) M12.2
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16 = M10.0 46 ) M11.4 77 LD | M10.7
17 LD M12.2 47 ) M11.5 78 @) M11.3
18 | TON | T39 +20 |48 0] M11.6 79 @) M11.4
19 AN T39 49 ) M11.7 80 @) M11.5
20 = MO0.2 50 ) M12.0 81 @) M11.6
21 LD MO0.0 51 ) M12.1 82 @) M11.7
M10.0 52 ) M12.2 83 @) M12.1
22 | SHRB
M10.1 +18 | 53 = Q0.2 84 @) M12.2
23 LD M10.1 54 LD M10.4 85 = Q0.6
24 @) M11.1 55 ) M11.1 86 LD | M11.0
25 @) M11.3 56 ) M11.3 87 = Q0.7
26 @) M11.4 57 ) M11.4 88 | LDN | 10.1
27 0] M11.6 58 ) M11.6 89 R M10.1 18
28 0] M11.7 59 ) M11.7
29 0] M12.0 60 ) M12.1
30 0] M12.1 61 ) M12.2
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e
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L1 L2 L9 L1 L5 L8 B

B

B

B

B

B

B

10.0
10.1

B

L1
L2
L3
L4
LS

Q0.0
Q0.1
Q0.2
Q0.3
Q0.4

L6
L7
L8
L9

Q0.5
Q0.6
Q0.7
Q1.0
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1 LD 10.0 27| 0O M10.5 53 | = Q0.4

2 @) MO0.1 28| 0O M11.0 54 | LD M10.4
3 A 10.1 29| 0O M11.1 55 | O M10.7
4 = MO.1 30| O M11.2 56 | O M11.0
5 LD MO.1 31|0 M11.3 57 | O M11.6
6 AN MO.0 32 |0 M11.4 58 | = Q0.5

7 TON | T37 +5 33| = Q0.0 59 | LD M10.3
8 LD T37 34 | LD M10.1 60 | O M10.7
9 = MO0.0 35|0 M10.6 61 | O M11.1
10 LD MO0.1 36| O M11.0 62 | O M11.6
11 TON | T38 +10 |37|O M11.5 63 | = Q0.6

12 AN T38 38 | = Q0.1 64 | LD M10.2
13 = M1.0 39 | LD M10.4 65 | O M10.7
14 LD M1.0 40| O M10.6 66 | O M11.2
15 @) MO0.2 41| O M11.1 67 | O M11.6
16 = M10.0 421 O M11.5 68 | = Q0.7

17 LD M11.6 43 | = Q0.2 69 | LD M10.1
18 TON | T39 +5 44 | LD M10.3 70 | O M10.7
19 AN T39 45| 0 M10.6 71 |0 M11.3

17




20 = MO0.2 46 | O M11.2 72 | 0O M11.6
21 LD MO0.0 47| O M11.5 73 | = Q1.0
22 | SHRB | M10.0 48 | = Q0.3 74 | LDN | 10.1
M10.1 +14
23 LD M10.1 49 | LD M10.2 7 | R M10.1 14
24 @) M10.2 50| O M10.6
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NO.1
:H
NO.1 M0.0 737
— { 2} IN TON
w5 T
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— =—= )
NO.2
—
M11.6 T39
f N TON
.
T39 MO.2
— ' — )
40.0

M10.1

—

M10.2

M10.3

]

M10.4

—

M10.5

1

M11.0

—

M11.1

1

M11.2

—

M11.3

—

M11.4

-

M10.1

M10.6

1

M11.0

M11.5

—

M10.0 =DATA
M10.1<4S BIT

+14 4N

SHRB

ENO ———3)

0.0

)

0.1

3-2

M10.4

M10.6

—

M11.1

M11.5

—

M10.3

M10.6

IR

M11.2

M11.5

1

M10.2

—

M10.6

1

M11.3

—

M11.5

—

M10.4

e

M10.7

—

M11.0

I

M11.6

M10.3

SR

M10.7

M11.1

1

M11.6

M10.2

—

M10.7

M11.2

—

M11.6

M10.1

—

M10.7

M11.3

—

M11.6

10.1

—

0.2

0.4

0.5

0.7

01.0

M10.1

14

19



PLC

L12 L11 B
B B B

B
B

L8 L1 L1 L2 L9 L1 L5 L8 B B B

B
B

B
B

B
B

10.0
10.1

B
B

B
B

B
B

L1
L2
L3
L4
L5
L6

B B
B B

Q0.0
Q0.1
Q0.2
Q0.3
Q0.4
Q0.5

B
B

L7 Q0.6
L8 Q0.7
L9 QL0
L10 QL1
L1l Q1.2
L12 Q13

20



4-1

1 LD | 10.0 31| O |MILL7 62 | O |MILL6
2 o | Mol 32| 0 |MI120 63 | O |M123
3 A |101 33| 0 |[M121 64 | = |Qo6

4 = | Mol 34| = Qo0 65 | LD | M10.4
5 LD | Mo.1 3| LD |M106 66 | O |M10.7
6 AN | M0.0 36| O |MiL3 67 | 0 |MiL4
7 | TON [T37 +5 [37| O |[M1Ll5 68 | O |M1L7
8 LD | T37 38| 0 |M122 69 | 0 |M123
9 = | M0.0 39| = |Qo1 70 | = |Qo7

10| LD |Mo1 40| LD |M111 71 | D |M106
11| TON |[T38 +10 [4| O [Mm13 72 | o |muL4
12| AN |T38 2| 0 |MLL6 73 | 0 |M120
13 = | ML0 43| 0 | M122 74 | o |m123
14| LD |M10 44| = |Qo2 75 | = |0QL0

15 O | Mo02 45| LD |M11.0 76 | LD | M103

21




16 = M10.0 46 0] M11.3 77 = Q1.1
17 LD M12.3 47 0] M11.7 78 LD M10.2
18 TON T39 +5 48 0] M12.2 79 = Q1.2
19 AN T39 49 = Q0.3 80 LD M10.1
20 = MO.2 50 LD M10.7 81 = Q1.3
21 LD MO0.0 51 0] M11.3 82 LDN | 10.1
M10.0 52 0] M12.0 83 R M10.1 19
22 | SHRB
M10.1 +19 | 53 0] M12.2
23 LD M10.5 54 = Q0.4
24 0] M11.6 55 LD M11.1
25 0] M11.7 56 0] M11.4
26 0] M11.0 57 0] M11.5
10.0 10.1 MO.1
— | i ¢ )
MO.1
:H H:
MO.1 MO.0 T37
— | { 7} IN TON
+5 PT
T37 MO.O
— )
MO.1 T38
Eﬂ ﬂ IN TON
+10 = PT
T38 M1.0
{7} ( J
M1.0 M10.0
—
MO.2
Eﬂ H=
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AN

5-1
1 [LD |10.0 26| = |0Q03 51 | LD |T38
2 | O |Mo0o 27| LD |[Q0.0 52 | AN | T39
3| = |Moo 28| AN | T43 53 A | T59
4 LD MO0 29 = Q03
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PLC

1/0

1s

OO w >

1s

1s

10.0
10.5
10.1
10.2
10.3
10.4

1s

1s

M1
M2
M3
M4

Q0.1
Q0.2
Q0.3
Q0.4
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6-1

1 |LD 10.0 36 | LD T41 71| R Q03 1
2 |0 MO0.1 37| R Q03 1 72| = M1.3
3 | A 10.5 38 | = MO.6 73 | LD M1.3
4 | AN 10.1 39 | LD MO.6 74 | TON | T47 +10
5 | AN 10.2 40 | TON | T42 +10 75 | LD T47
6 | AN 10.3 41 | LD T42 76 | R Q04 1
7 | AN 10.4 42 | R Q04 1 77 | LD 10.3
8 |S Q04 1 43 | LD 10.1 78 |0 MO0.4
9 |= MO.1 44 |1 O MO.7 79 | AN 10.0
10 | LD MO0.1 45 | AN 10.0 80 | R Q0.1 1
11 | TON T37 +10 |46 | R Q0.1 1 81 |R Q0.2 1
12 | LD T37 47 | = MO.7 82 | R Q03 1
13 | S Q03 1 48 | LD MO.7 83| = M1.4
14 | = M0.2 49 | TON | T43 +10 84 | LD M1.4
15 | LD M0.2 50 | LD T43 85| TON | T48 +10
16 | TON T38 +10 |51 |R Q0.2 1 86 | LD T48
17 | LD T38 52 | = M1.0 87 | R Q04 1
18 | S Q0.2 1 53 | LD M1.0 88 | LD 10.4
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19 | = MO0.3 54 | TON | T44 +10 89| O M1.5
20 | LD MO0.3 55 | LD T44 90 | AN 10.0
21 | TON T39 +10 |56 |R Q03 1 91 | R Q0.1 1
22 | LD T39 57 | = M1.1 92 | R Q0.2 1
23 | S Q0.1 1 58 | LD M1.1 93 | R Q03 1
24 | LDN 10.5 59 | TON | T45 +10 94 | R Q04 1
25 | O MO0.4 60 | LD T45 95 | = M1.5
26 AN

29




6-2

30



1 |[LD 10.0 38| = MO0.6 75 | R Q02 1
2 |0 MO.1 39|LD | Mo6 76 | = M1.3
3 |A 10.5 40 | TON | T42 +10 77 |LD | ML3
4 | AN 10.1 41| LD | T42 78 | TON | T48 +10
5 | AN 10.2 42 |R Q0.4 1 79 |LD | T48
6 | AN 10.3 43|LD | 101 80 [R Q03 1
7 | AN 10.4 4410 M2.1 81 |= M1.4
8 |S Q04 1 |[45|AN |10.0 82 |[LD | M14
9 |= MO.1 46 | TON | T43 +10 83 | TON |T49 +10
10 | LD MO.1 47 | = M2.1 84 |LD |T49
11 | TON [T37 +10 [48|LD |T43 85 R Q04 1
12 | LD T37 49 | R Q0.1 1 86 |LD |10.3
13 |s Q03 1 |[50|= MO0.7 87 |0 M2.3
14 | = MO0.2 51| LD | M0.7 88 |AN |10.0
15 | LD MO0.2 52 | TON | T44 +10 89 [R Q0.1
16 [TON | T38 +10 |53|LD |T44 90 |R Q0.2
17 | LD T38 54 | R Q02 1 91 | = M2.3
18 | S Q02 1 |55|= M1.0 92 |LD | M23
19 | = MO0.3 56| LD | M1.0 93 | TON | T50 +10
20 | LD MO0.3 57 | TON | T45 +10 94 |LD | T50
21 | TON |T39 +10 |58 |LD | T45 95 | R Q03 1
22 | LD T39 59 | R Q03 1 9% |= M1.6
23 | S Q.1 1 |60]= M1.1 97 |LD | ML6
24 | LDN | 105 61| LD | ML1 98 | TON | T51 +10
25 | O MO0.4 62 | TON | T46 +10 99 |LD |T51
26 | AN 10.0 63| LD | T46 100 | R Q04 1
27 | R Q01 1 |[64|R Q04 1 101 | LD | 104
28 | = MO0.4 65|LD |10.2 102 | O M2.4
29 | LD MO0.4 66 | O M2.2 103 | AN [ 10.0
30 | TON | T40 +10 |67 | AN |10.0 104 | R Q0.1 1
31 | LD T40 68 | R Q0.1 1 105 | R Q0.2 1
32 | R Q02 1 |[69|= M2.2 106 | R Q03 1
33 | = MO.5 70| LD | M22 107 | = M2.4
34 | LD MO.5 71| TON | T47 +10 108 | LD | M24
35 | TON |T41 +10 |72 |LD | T47 109 | TON | T52 +10
36 | LD T41 73| R Q02 1 110 [ LD | T52
37 | R Q03 1 |74|= M1.3 111 | R Q04 1
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PLC

M1
M3F % S2
S1 M3
+
+ S1 S2
8 o)
10.0
10.3
S1 10.1
S2 10.2
3

M2
M3

S1
M3R %
S2

M1 Q0.0
M2 Q0.1

11
Y1

M3F Q0.2
M3R Q0.3
Y1 Q04

M3

3s

34



1 |LD 10.0 140 Q0.2 27 | A MO0.0
2 |0 T38 15 | A 10.3 28 |A MO.1

3 |0 MO0.0 16 | AN | 10.2 29 | = Q0.3

4 | A 10.3 17 | A MO0.0 30 |= Q0.4

5 | = MO0.0 18| = Q0.2 31 [LD | Qo3

6 |LD 10.0 19(s MO.1 32 [LD |T38

7 |0 Q0.0 20 | LDN | 10.3 33 [CTU |C1 +4

8 |0 T38 21| 0 c1 3 [LD |c1

9 |A 10.3 22 | R MO.1 35 | TON |T38 +30
10 [ A MO0.0 23| LD | 102 36 |R Q0.0 4

11 = Q0.0 24 0O Q0.3 37
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MO.0

10.0

Va

T38

V.
NV

Cl

+4 1

Cu

CTu

TON
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NN
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]

PLC (!
1
XcXpXeEXF  PLC-01 XcXDXEXF £ 0001 0010
0011 0100 0101 L1 = XcXDXEXF
0001 0010 0011 0100 0101
L2 %% i1 M5 % S1 1s % —
XcXDXEXF 0001 1 S2
M1 % 2s 1
M5L2S1 25  XcXDXEXF 0010 S2
M2 %2 2s —
M5,L2,S1 25  XcXDXEXF 0011
3 S2 M3 % 2s
3 M5,L2,S1 25 XcXDXEXF 0100
4 S2
M4 zZ 2s 4 M5,L2,S1  2s
XcXDXEXF 0101 5 S2
M5,L2,S1  2s 5
1 8L M1 A XcXDXEXF
L1 % ek
S2 il
o}
10.0 M1 Q0.1
10.1 M2 Q0.2
S1 11.0 M3 Q0.3

37



S2 10.7 M4 Q0.4

Xc 10.3 M5 Q0.5
XD 10.4 L1 Q0.6
XE 10.5 L2 Q0.7
XF 10.6
3
4
11 L2 ML M2 M3 M4
s2 ()

-

510000

O (A L it i
100000 200000 300000 430000
S1
8-1 17
il
1 LD 10.0 81 @] M1.3 161 A 11.0
2 @) MO.0 82 A MO0.4 162 A 10.5
3 = MO0.0 83 OoLD 163 A 10.6
4 LDN 10.1 84 LD MO.7 164 | AN 10.3
5 @) M3.0 85 O M1.0 165 | AN 10.4

38




6 = M3.0 86 ) M1.1 166 = M10.2
7 LD 10.6 87 ) M1.2 167 | LD | M10.2
8 AN 10.3 88 A MO0.5 168 | LD | M10.5
9 AN 10.4 89 | OLD 169 | CTU | C9 +2
10 AN 10.5 90 AN | T48 170 | LD | M10.2
11 = MO.1 91 | TON | T49 +5 171 A | C9

12 LD 10.5 92 LD | T49 172 | EU

13 AN 10.3 93 | TON | T48 +5 173 = M2.3
14 AN 10.4 94 LD | T49 174 | LD | M23
15 AN 10.6 95 = Q0.6 175 | LD | M10.5
16 = MO0.2 96 LD | Q0.6 176 | CTU | C3 +15
17 LD 10.5 97 S M0.6 1 177 | LD |C3

18 A 10.6 98 LD | Q0.7 178 | TON | T40 +20
19 AN 10.3 99 A MO0.1 179 | AN | T40
20 AN 10.4 100 ) MO.7 180 = Q0.3
21 = MO0.3 101 = MO.7 181 | LD | M1.2
22 LD 10.4 102 | LD |10.7 182 A 11.0
23 AN 10.3 103| A MO0.2 183 | A 10.4
24 AN 10.5 104 ) M1.0 184 | AN |10.3
25 AN 10.6 105 = M1.0 185 | AN | 10.5
26 = MO0.4 106 | LD |10.7 186 | AN | 10.6
27 LD 10.4 107 | A MO0.3 187 = M10.3
28 AN 10.3 108 ) M1.1 188 | LD | M10.3
29 AN 10.5 109 = M1.1 189 | LD | M10.5
30 A 10.6 110 | LD |[10.7 190 | CTU | C2 +2
31 = MO0.5 111 A MO0.42 191 | LD | M10.3
32 LD MO0.1 112 ) M1.2 192 A | C10
33 AN Q0.1 113 = M1.2 193 | EU

34 LD MO0.2 114 | LD |10.7 194 = M2.4
35 AN Q0.2 115 A MO0.5 195 | AD | M24

39




44 AN C5 124 = M10.0 204 | A 10.4

45 | OLD 125 | LD | M10.0 205| AN |10.3

46 A MO0.0 126 | LD | M10.5 206 | AN | 10.5

47 AN M3.0 127 | CTU | C7 +2 207 | A 10.6

48 AN MO0.6 128 | LD | M10.0 208 = M10.4
49 = Q0.7 129 A C7 209 | LD | M10.4
50 = Q0.5 130 | EU 210 | LD | M10.5
51 LDN | 10.3 131 = M2.1 211 | CTU | C11 +2
52 AN 10.4 132 | LD | M21 212 | LD | M10.4
53 AN 10.5 133 | LD | M10.5 213| A | C11

54 AN 10.6 134 | CTU | C1 +5 214 | EU

55 0 10.3 135| LD |C1 215 = M2.5
56 LDN | 10.3 136 | TON | T38 +20 216 | LD | M25
57 A 10.4 137 | AN | T38 217 | LD | M10.5
58 A 10.5 138 = Q0.1 218 | CTU | C5 +25
59 | OLD 139 | LD | M1.0 2199 | LD | C5

60 LD M1.0 140 | A 11.0 220 | TON | T42 +20
61 @) M1.1 141 A 10.5 221 | LD | T38

62 @) M1.2 142 | AN |10.3 222 @) T39

63 @) M1.3 143 | AN | 104 223 @) T40

64 A MO.1 1441 AN | 10.6 2241 O T41

65 | OLD 145 = M10.1 225 @) T42

66 LD MO.7 146 | LD | M10.1 226 = M10.5
67 @) M1.1 147 | LD | M10.5 227 | LD | M10.5
68 @) M1.2 148 | CTU | C8 +2 228 R MO0.7 5
69 @) M1.3 149 | LD | M10.1 229 | LDN | 10.1

70 A MO.2 150 | A C8 230 R Cl 11
71 | OLD 151 | EU 231 R M0.0 31
72 LD MO.7 152 = M2.2 232 R M10.0 6
73 @) M1.0 153 | LD | M22 233

74 @) M1.2 154 | LD | M10.5 234

75 @) M1.3 155 | CTU | C2 +10 235

76 A MO0.3 156 | LD |C2 236

77 | OLD 157 | TON | T39 +20 237

78 LD MO.7 158 | AN | T39 238

79 @) M1.0 159 = Q0.2 239

80 @) M1.1 160 | LD | M1l.1 240
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PLC

110
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9-1

0 LD 10.0 37 = M1.1 77| = Q0.3

1 @) MO0.0 38| TON | T47 +50 78 | LD M10.2
2 AN 10.1 39| LD | M1l 79 |0 M11.2
3 = MO.1 40 | AN | T47 80 | O M12.2
4 LD MO.1 41 0] M1.2 81 | O M13.2
5 AN MO0.0 42 = M20.0 82 | = Q0.4

6 TON | T37 +10 |43 | LD | M204 83 | LD M10.3
7 LD T37 44 | TON | T48 +80 8 | O M11.3
8 = MO0.0 45| AN | T48 8 | O M12.3
9 LD 10.2 46 = M1.2 86 | O M13.3
10 @) M2.0 47| LD | M1.0 87 | = Q0.5

11 AN T57 48 | SHRB M20.0 88 | LD M10.4
12 AN 10.1 M20.1 +4 |89 | O M11.4
13 = M2.0 49| LD | M20.1 90 | O M12.4
14| TON | T57 +10 |50 | TON | T39 +30 91 | O M13.4
15 LD M2.0 51| LD |T39 92 | = Q0.6

16 @) MO.5 52 | TON | T40 +15 93 | LD M20.1
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17 = M10.0 53| AN | T40 94 | AN T39

18 LD MO0.2 54 = MO0.2 95 | = Q0.0

19 = M11.0 55| LD | M20.2 96 | LD M20.2

20 LD MO0.3 56| TON | T41 +30 97 | AN T41

21 = M12.0 57| LD |T41 98 | = Q0.1

22 LD MO.4 58 | TON | T42 +15 99 | LD M20.3

23 = M13.0 59| AN | T42 100 | AN T43

24 LD MO.0 60 = MO0.3 101 | = Q0.2

25 | SHRB | M10.0 61| LD | M20.3 102 | LD M20.4
M10.1 +5| 62| TON | T43 +30 103 | AN T45

26 | SHRB | M11.0 63| LD | T43 104 | = Q0.7
M11.1 +5 |64 | TON | T44 +15 105 | LD 10.1

27 | SHRB | M12.0 65| AN | T44 106 | AN 10.0
M12.1 +5| 66 = MO0.4 107 | R M20.1 4

28 | SHRB | M13.0 67| LD | M204 108 | R M10.1 28
M13.1 +5|68 | TON | T45 +30 109 [ R M11 1

29 LD M10.5 69| LD | T45

30 0] M11.5 70 | TON | T46 +15

31 0] M12.5 71| AN | T46

32 0] M13.5 72 = MO0.5

33 EU 73| LD | M10.1

34 = M1.0 74 @) M11.1

35 LD M10.0 75 @) M12.1

36 0] M1.1 76 @) M13.1
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PLC

L1
L2
L3

10.0
10.4
10.1
10.2
10.3

” B

Y1 Q0.1
Y2 Q0.2
Y3 Q0.3
M Q0.4
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111

X

10-1
LD 10.0 17 | A 10.2 32 |LD | M10.1
AN Q0.1 18 | OLD 33 | = Q0.1
AN
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Cl

o

CTU

CuU

—_—

«

=

=

+1 4PV

MO.1

=

(3]

=

M10.0

= GHF o<

= o e
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= 0 =
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o
zZ
L
oM
T -
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E o
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L anz
T 7
Odg
oot
—
==
S L —
N - ~ m ©
o o o o o
I.ﬂ”_ I.ﬂ”_ — - — —

= 1) =

=

T T

Q0.1

M10.1

Q0.2

M10.2

Q0.4

&

T37

TON

IN

o) =

+40 — PT

Q0.3

TON

T38

IN

M10.4
M10.5

— b —<

n ==

[T

+20 —f PT

10.4
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PLC

8
1/10

10.0 — YV1 Qo0.1

105 YV2 Q0.2

- SQ1 10.1 YV3 Q0.3

SQ2 10.2 YV4 Q0.4

SQ3 10.3 YV5 Q05

SQ4 10.4 A Q0.6

PS 10.6 B Q0.7



1 LD 10.0 35| AN | M11.1 69 | SHRB | M10.0

2 @) MO0.0 36 A M1.6 M10.1 +10
3 A 10.5 37 = M10.0 70| LD | M1i0.1

4 = MO0.0 38 | LDN | 10.5 71 @) M10.5

5 LD 10.1 39 R MO0.0 2EMC (
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20 AN M1.6 54 LD M10.5 87| AN M11.1
21 LD M11.1 55 A 10.2 88 = Q0.7
22 AN M11.2 56 | OLD 89 = Q0.4
23 oLD 57 LD M10.6
24 = Q0.6 58 A T38
25 LD M1.1 59 | OLD
26 A M1.4 60 LD M10.7
27 AN M10.1 61 A 10.1
28 AN M10.2 62 | OLD
29 AN M10.3 63 LD M11.0
30 AN M10.4 64 A 10.4
31 AN M10.5 65| OLD
32 AN M10.6 66 LD M11.1
33 AN MM10.7 67 A 10.6
34 AN M11.0 68 | OLD
10.0 10.5 MO.0
— — )
0.0
%
10.1 0.2 M1.1
— 1 — )
M0.0
Eﬂ
ML.1
%
10.4 Q0.3 M1.4
— ' )
0.0
%
ML.4
%
1.6
% T I%
)

M11.1

% I—W::I—(
% B

M1.4

% H (s I e I e IO e I o IO s R e R s IO e A

M10.1 M10.2

M10.3

M10.4

11-2

M10.5  M10.6

M10.7

M11.0

M11.1

M1.6

M10.0

)
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11-2

SHRB

ENO

55



PLC

110

SB1
SB2
SB3
SB4
SB5
SB6

10.1
10.2
10.3
10.4
10.5
10.6

El
E2
E3
E4

E5
E6

Q0.1
Q0.2
Q0.3
Q0.4
Q0.5
Q0.6
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SB7 10.7 E7 Q0.7
SQ1 11.0 KM1 Q1.0
SQ2 111 — KM2 Q1.1
SQ3 11.2
3
4
[ ] KM2
E3 O #HEER
SB7 O sQ3 KCM;WW%
@) O !
E7
2| O zpwun
E6
o6 O =R by
E5
O E2 O =R TN
ses O se2 | es
O O] O —rwun
0| sss
O wwzg
SB2
E1 O iR
SB4 O SQ1 SB1
O UL Ol O ww—r
LI &
12-1
1 LD 10.1 68 LDN | M10.0 135 | A M10.0
2 (@] MO0.1 69 R MO0.1 7 136 | AN M2.4
3 AN Q1.1 70 LD 11.0 137 | AN M12.4
4 AN Q0.1 71 | A MO0.1 138 | = Q1.0
5 = MO0.1 12 LD 11.0 139 | LD MO.2
6 LD 10.2 73 | A Q0.4 140 | O Q0.5
7 (@] MO.2 74 | OLD 141 | LD MO0.1
8 AN Q0.2 75 | AN M2.2 142 | O Q0.4
9 = MO.2 76 | R Q0.2 1 143 | ALD
10 | LD 10.3 77 LD MO0.2 144 | ED
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1 |0 MO0.3 78 |0 MO0.3 145 | = M2.1
12 | AN Q1.0 79 |0 MO0.1 146 | LD | M2.1
13 | AN Q0.3 80 | O Q0.4 147 | S M22 1
14 | = MO0.3 8l |O Q0.7 148 | LD | Mo.1
15 | LD 10.4 82 |0 Q0.6 149 | O Q0.4

16 | O MO0.4 83 |0 Q0.5 150 | A M2.2

17 | AN Q1.1 84 |A 11.1 151 | TON | 737 +20
18 | AN Q0.1 85 |LPS 152 | R QL0 1
19 | = MO0.4 86 | AN | M12.2 153 | LD | M0.2
20 | A M10.0 87 |R Q0.1 1 154 | O Q0.6

21 | AN M2.4 88 | LRD 155 | LD | M0.3
22 | = Q0.4 89 | AN | M124 156 | O Q0.7

23 | LD 10.5 90 |R Q03 1 157 | ALD

24 |0 M0.5 91 | LPP 158 | ED

25 | AN Q0.2 92 | AN | Q0.1 159 | = M2.3
26 | = M0.5 93 |AN | Q0.3 160 | LD | M2.3
27 | LD Q0.7 94 |AN | M12.4 161 S M2.4 1
28 | O MO0.3 95 |AN | M122 162 | LD | M0.3
29 | ON Q0.2 % |S Q0.2 1 163 | O Q0.7

30 | LD M0.5 97 |LD |12 164 | A M2.4

31 |0 Q0.5 98 |A MO0.3 165 | TON | T38 +20
32 | ALD 99 |LD |I1.2 166 | R QL1 1
33 | A M10.0 100 | A Q0.7 167 | LD | Q0.5

34 | = Q0.5 101 | OLD 168 | A Q0.7

35 | LD 10.6 102 | LSP 169 | LD | Q0.5

36 | O MO0.6 103 | AN | M2.4 170 | A MO0.3

37 | AN Q0.2 104 | R Q02 1 171 | OLD

38 | = MO0.6 105 | LPP 172 | ED

39 | LD Q0.4 106 | AN | Q0.1 173 | = M12.3
40 | O MO.1 107 | AN | M2.4 174 | LD | M12.3
41 | ON Q0.2 108 | S Q03 1 175 | S M12.4 1
42 | LD MO0.6 109 | LD | T39 176 | LD | Q0.3

43 |0 Q0.6 110 | O Q1.1 177 | A M12.4
44 | ALD 111 | AN | Q0.2 178 | TON | T40 +20
45 | A M10.0 112 [ LD | M0.2 179 | LD | Q0.6

46 | = Q0.6 113 | 0 MO0.3 180 | A Q0.4

47 | LD 10.7 114 | O MO0.7 181 | LD | Q0.6

48 | O MO0.7 115 | O MO0.6 182 | A MO.1
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49 | AN Q1.0 116 | O MO0.5 183 | OLD

50 | AN Q0.3 117 | OLD 184 | ED

51 | = MO.7 118 | AN Q0.3 185 | = M12.1
52 | A M10.0 119 | AN Q1.0 186 | LD M12.1
53 | AN M2.2 120 | A M10.0 187 | S M12.2 1
54 | = Q0.7 121 | AN M2.2 188 | LD Q0.1

55 | LD 11.0 122 | AN M12.2 189 | A M12.2
56 | AN Q0.2 123 | = Q1.1 190 | TON | T39 +20
57 | LD 11.0 124 | LD T40 191 | LD T37

58 | A MO.1 125 | O Q0.1 192 | R M22 1
59 OLD 126 AN Q0.2 193 LD
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PLC

RUN SQ1 E1 X
SB6 SB7(SB2) SB6,SB7(SB2), — , SQ2E1 E2%,—
SB8  SB9(SB3) SB8,SBI9(SB3), — , SQ3 ,
SQ2,E1 E27%, — SQ3,E2 E3%,
SB10(SB4), — , SQ4 , SQ2,E1 E2 %, —
, SQ3E2 E3 7%, — SQ4E3 E4%,
SB6,SB8  SB6,SB8,SB3  SB6,SB3, — , SQ2E1 E27%,
— , SQ3,E2 E3%, 2 , SQ2,E3 E27%,
SB6,SB8,SB2  SB6,SB8, SB2,SB3  SB6,SB2,SB3, — , SQ2E1
E2 %2, 2 — , SQ3E2 E3 7%, 2 ,
SQ2,E3 E2%,
SB6,SB9  SB6,SB9,SB3 — , SQ2E1 [E27%, —
SQ3,E2 E3%, 2 — SQ4E3 E4%, 2
SQ3E4 E3 %, , SQ2,E3 E27%Z,
SB6,SB9,SB2  SB6,SB9,SB2,SB3, — , SQ2E1 E2%,
2 — , SQ3E2 E37%, 2 — SQ4,E3 |E4 %,
2 SQ3,E4 E3 7%, , SQ2E3 [E27%,

SB7(SB2),SB8  SB7(SB2),SB8,SBI(SB3) SB7(SB2),SBY(SB3),  —

. SQ2,E1 E2%, 2 — , SQ3E2 [E3%,
SB6,SB7(SB2),SB8, SB6,SB7(SB2),SB8,SB3  — , SQ2,El E2
%z, 2 — , SQ3E2 [E3X, 2 ., SQ2E3
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E2 7L,
SB6,SB7(SB2),SB8,SB9 SB6,SB7(SB2),SB8,SB9,SB3 -,

SQ2,E1 E2%7, 2 — , SQ3E2 [E3%, 2 —
SQ4,E3 E4 %, 2 SQ3E4 E3 %, 2
, SQ2E3 [E27%,
SB6,SB10(SB4) , — , SQ2, E1 [E27%, — , SQ3E2
E3 %, — SQ4,E3 E4 %, 2 SQ3,E4
E3 %, , SQ2,E3 E27%,
SB7(SB2),SB10(SB4), — , SQ2,E1 [E2%, 2 —
, SQ3E2 [E37%, -, SQ4,E3 E47,
SB6,SB7(SB2),SB10(SB4), — , SQ2,E1 E27%, 2
— , SQ3E2 [E3%, — SQ4,E3 E4%, 2
, SQ3E4 [E37%, ., SQ2E3 |E27%,
SB6,SB8,SB10(SB4) , — , SQ2, E1 |E2 %, -,
SQ3,E2 E3 %X, — SQ4,E3  E4 %7, 2 ,
SQ3,E4 [E3%, 2 , SQ2E3 |E2%7,
SB7(SB2),SB8,SB10(SB4) , — , SQ2, E1 E2 7%, 2
— , SQ3,E2 E3%, — SQ4,E3 E4%, 2
, SQ3E4 [E37%,
SB6,SB9(SB3),SB10(SB4) ,  — , SQ2, E1 |E2 %, -
SQ3,E2 E3*%, 2 — SQ4E3 E4 7%, 2
, SQ3,B4 E3 7%, , SQ2E3 |E27%,
SB7(SB2),SB9(SB3),SB10(SB4) , — , SQ2,E1 |E27%,
2 — , SQ3E2 E3%, 2 — SQ4,E3 E4 %,
SB6,SB7(SB2),SB8,SB10(SB4),  — , SQ2,E1 |E27%,
2 — , SQ3E2 [E3%X, — SQ4,E3 E4 7%, 2
, SQ3,E4 E3 %, 2 , SQ2E3 |E2 7%,
SB6,SB7(SB2),SB9(SB3),SB10(SB4) , — , SQ2, E1 [E2%;,
2 — , SQ3E2 [E3%, 2 — SQ4,E3 E4
=z, 2 , SQ3,E4 E3%Z, , SQ2E3 |E2
SB6,SB7(SB2),SB8,SB9(SB3),SB10(SB4),  — , SQ2,E1 ,E2%,
2 — , SQ3E2 E3 7%, 2 — SQ4,E3
E4%Z, 2 , SQ3,E4
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E3 7%,

RN

22 SBO(SB3),SB10(SB4), — , SQ2, E1 [E2 %, —
SQ3,E2 E3%, 2 — , SQ3E2 [E3%,

23 SB8,SBY(SB3),SB10(SB4), — , SQ2, E1 ,E2 %, —

SQ3,E2 E37%, 2 — SQ4,E3  E47, 2

NN

, SQ3,E4 |E3 %L,

1 SB8 SB9(SB3) SB8,SB9(SB3), — ,  SQ3,E2
E37%Z,

2 SB10 (SB4), — , SQ3E2 [E37%, —
, SQ4E3 E47,

3 SB5(SB1), , , SQLE2 [E1%,

4 SB8,SB10(SB4), — , SQ3E2 , E3%,

— SQ4,E3 E47%, 2 ., SQ3,E4 [E3%,
5 SB9(SB3),SB10(SB4),  — , , SQ3,E2 ,E3%,
2 — SQ4,E3 E4 7%,

6 SB8,SB9(SB3),SB10(SB4),  — , SQ3,E2

, E3 %, 2 — SQ4,E3 E4 7%, 2 ,

SQ3,E4 E3 %,

RN

SB10(SB4), -, , SQ4,E3 E47%Z,
SB6 SB7(SB2) SB6,SB7(SB2) , ,
SQ2,E3 |E27%Z,

RN

3 SB5(SB1), , . SQ2E3 [E27%,
. SQ1E2 [E1%,

4 SB7,SB5(SB1), , , SQ2E3 |, E27%,

, SQL,E2 [E17%, 2 — , SQ2 E1 ,E2%,
5 SB6(SB2),SB5(SB1), , , SQ2E3 ,E27%,

2 — , SQL,E2 [E17%,
6 SB7,5B6(SB2),SB5(SB1), , , SQ2E3 ,E2%,
2 - SQ1E2 E1%, 2 —

SQ2 El E2%,
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1/0

SB1
SB2
SB3
SB4
SB5
SB6
SB7
SB8
SB9

SB10

sQ1
SQ2
SQ3
SQ4

10.1
10.2
10.3
10.4
10.5
10.6
10.7
11.0
11.1
11.2
11.3
11.4
11.5
11.6

El
E2
E3
E4
ES
E6
E7
E8
E9
E10
KM1
KM2

Q0.1
Q0.2
Q0.3
Q0.4
Q0.5
Q0.6
Q0.7
Q1.0
Q1.1
Q1.2
Q1.3
Q1.4
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=
=
N

O HHEH
EA] KM1
SB10 O soa| O #HHTH
E10
© Pl O mewan
= E9
B9 O ZRkwy
O E3 E8
Ses O sea| O ZRTFEK
E7
© NEE
=1
SB7 O BT
O E2 E5
O ()| sB4
O hwmE
= SB3
EL O nw=g
SB5 O SQ1| sB2
O i i Ol O ww=g
L] & | se1
O Wi
13-1
1 LD 10.1 18 (0] M1.1 35 AN | Q0.3
2 0] MO0.1 19 A Q0.3 36 AN | M11.3
3 AN Q14 20 A Q14 37 = MO0.3
4 AN Q0.1 21 S M11.4 1 38 LD 10.4
5 = MO0.1 22 LD Q0.2 39 0] MO0.4
6 LD 10.2 23 AN | Q1.1 40 AN | Q1.3
7 0] MO0.2 24 AN | Q0.7 41 AN | Q0.4
8 AN Q0.2 25 0] Q0.1 42 = MO0.4
9 AN M11.4 26 R M11.3 1 43 LD | Q0.2
10 = MO0.2 27 LD MO0.5 44 A M12.3
11 LD Q0.3 28 0] MO0.1 45 = M12.2
12 AN Q1.0 29 0] MO.6 46 LD 10.5
13 AN Q0.6 30 A Q0.2 47 0] MO0.5
14 (0] Q0.4 31 A Q1.3 48 AN | Q14
15 R M114 1 |32 S M11.3 1 49 AN | Q0.1
16 LD M1.2 33 LD 10.3 50 = MO0.5
17 (0] MO0.4 34 (0] MO0.3 51 A M10.0
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52 AN M12.4 89 LD | M0.6 1271 O M1.1
53 AN M13.4 90 S M9.0 128 | AN | Q0.3
54 AN M12.2 91 | LDN | Q0.7 129 | AN | M11.3
55 = Q0.5 92 R M9.0 130 = M1.1
55 LD 10.6 93 LD | Q1.3 131 | LD | Q0.7
56 0] MO0.6 94 A QL1 132 | AN | Q14
57 AN Q0.2 95 A Q0.2 133 | LD | Q0.6
58 AN M11.4 96 AN | Q0.5 134 | AN | Q14
59 = MO0.6 97 AN  MO.1 135
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165 AN Q0.6 203 A 11.4 241 | AN | M22.4
166 | OLD | Q0.2 204 | LPS 242 | AN | M23.4
167 AN Q0.3 205 AN M221 243
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279 AN Q1.3 317 | OLD 355 | LD | T101
280 AN M13.2 318 | LD | M55 356 | O M3.0
281 AN M13.5 319 | AN | Q0.2 357 | AN | Q0.2
282 S Q04 1 320 | OLD 358 = M3.0
283 LD T141 321 | LD | M0.2 359 | LD | M55
284 0] M4.1 322 | AN | Q0.3 360 | AN | Q0.3
285 AN Q0.2 323 | OLD 361| O MO0.2
286 = M4.1 324 @) M3.3 362| O MO0.6
287 LD T143 325 @) M4.1 363| O M3.0
288 0] M4.3 326 @) M4.3 364| O M4.0
289 AN Q0.3 327 0] M5.0 365| O M4.2
290 = M4.3 328 0] MO0.3 366 O M5.1
291 LD T135 329 @) MO0.4 367 O MO0.3
292 S M55 1 330 0] M1.0 368 O MO0.1
293 LD Q0.4 331 @) M1.1 369| O MO.7
294 0] Q0.1 332 0] Q1.2 370 | O M1.0
295 R M55 1 333| AN | Q0.4 371| O M1.1
296 LD Q0.1 334 AN | Q13 372 O | Q05
297 A Q1.1 33| A M10.0 373 | AN | Q0.1
298 AN Q0.2 336 = Q1.4 374 | AN | Q14
299 AN Q0.3 337 LD T140 3715 A M10.0
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393 A | MO3 431 | LD | Q0.7 469 | ED

394 | ED 432 O |QL0 470 | = | M37
35| = | M3l 433 A | M125 471 | LD | M3.7
396 | LD |M3l 434 | TON | T125 +20 |472| S |M137 1
397 s |M131 1 [435| R [QL3 1 473 | LD | Q05
398 LD |Mo.l 436| R | QL4 1 474 O | QL0
39| O |Qo5 437 | LD | Q0.6 475 | A | M13.7
400 A [ M131 438 | O |Mo.2 476 | TON | T137 +20
401| TON |T131 +20[439| O |Mo.1l 477 R Q13 1
402 R |QL3 1 |[440| LD | QL0 478| R [Ql4 1
403| LD | MO0.2 441 O |Mo03 479 | LD | QL0
404 O |QO07 442 | ALD 480 O | Q06
405| LD | MO03 443 | ED 481 A | Q03
406 O |0QL1 444 | = | M32 482 | ED

407 | ALD 445 | LD | M3.2 483 | = | M21.0
408 | ED 446 | S | M132 1 484 | LD | M21.0
409 = | M23 447 | LD | Q0.6 485 S |M211 1
40| LD |M23 448 O |QL0 486 | LD | QL0
41| s |M123 1 |449| O |[Mo.2 487 | A | M21.1
412 LD | MO0.2 450 | O |Mo03 488 | TON | T150 +20
413 0 Q07 451 A M132 489 R
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507 ED 595 | A M22.4 633 | LD | T134
508 = M2.4 596 | TON | T140 +20 634 R M13.4
509 LD M2.4 597 R Q13 1 635 | LD | T135
560 S M124 1 |598 | LD | Q0.1 636 R M13.5
561 LD MO0.4 599 A M22.1 637 | LD | T136
562 0] Q1.2 600 | TON | T141 +20 638 R M13.6
563 A M12.4 601 R Q14 1 639 | LD | T137
564 | TON | T124 +20|602 | LD | M0.4 640 R M13.7
565 R Q14 1 603 @) Q1.2 641 | LD | T140
566 LD MO0.3 604 A | Q10 642 R M22.4
567 0] Q1.1 605 | ED 643 | LD | T141
568 LD MO0.4 606 = M18.4 644 R M22.1
569 0] Q1.2 607 | LD | M18.4 645 | LD | T142
570 | ALD 608 S M23.4 1 646 R M23.4
571 ED 609 | LD | MO.1 647 | LD | T143
572 = M3.4 610 0] Q0.5 648 R M23.1
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PLC

Y/

Y/

co
N
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U2

V1
V2
141 Y/
Y/
1 |LD 10.0 = Q0.0 15 | A 10.1
2 |0 Q0.0 9 |= Q0.1 16 | = Q0.3
3 | A 10.1 10 | = Q0.2 17 | = Q0.4
4 AN T37 11
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PLC

87 8 8% 9
=z =z 8 8 89 9 9
8
o)
10.0 A Q0.1 D Q04
10.1 B Q0.2 E Q05

C Q0.3



B

15-1
1 LD 10.0 19 TON | T39 +20 35 0] M11.1
2 @) MO0.1 20 AN | T39 36 0] M11.2
3 A 10.1 21 = MO.2 37 0] M11.3
4 = MO01 22 LD | M0.O 38 = Q0.3
5 LD MO.1 M10.0 39 LD | M10.4
6 AN MO0.0 23 | SHRB M10.1 +15 |40 ) M11.3
7 TON | T37 +30 |24 LD | M10.1 41 ) M11.4
8 LD T37 25 ) M10.6 42 ) M11.5
9 = MO0.0 26 ) M10.7 43 = Q0.4
10 LD MO0.1 27 ) M11.7 44 LD | M10.5
11 TON | T38 +30 |28 = Q0.1 45 0] M11.5
12 AN T38 29 LD | M10.2 46 0] M11.6
13 = M1.0 30 ) M10.7 47 0] M11.7
15 LD M1.0 31 ) M11.0 48 = Q0.5
16 @) M0.2 32 ) M11.1 49 | LDN | 101
17 = M10.0 33 = Q0.2 50 R M10.1 15
18 LD M10.1 34 LD | M10.3
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Q0.5

15-2
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PLC
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16-1

83



1 LD 10.0 36 ) M11.3 | 71 o) M21.3 | 106 | AN 10.7
2 @) MO0.1 | 37 ) M11.4 | 72 o) M21.4 | 107 A 10.6
3 A 10.1 38 = M12.0 | 73 o) M21.5 | 108 A 10.4
4 = MO0.1 | 39 LD MO0.0 | 74 ) M21.6 | 109 | AN 10.5
5 LD MO0.1 | 40 A 10.2 75 ) M21.7 | 110 | AN | M12.0
6 AN MO0.0 | 41 AN 10.6 76 = M22.0 | 111 | AN | M21.0
7 TON | T37,+1 | 42 A 10.7 77 LD MO0.0 | 112 | AN | M22.0
8 LD T37 43 A 104 | 78 A 10.2 | 113 | SHRB | M10.1
9 = MO0.0 | 44 AN 10.5 79 AN 10.6 | 114 M10.2
10 LD MO0.1 | 45 AN | M120 | 80 A 10.7 | 115 +3
11 | LPS 46 AN | M21.0 | 81 A 105 |116 | LD MO0.3
12 AN T38 47 AN | M22.0 | 82 AN 104 | 117 A 10.3
13 = MO0.2 | 48 | SHRB | M10.0 | 83 AN | M11.0 | 118 | AN 10.7
14 | LRD 49 M10.2 | 84 AN | M12.0 | 119 A 10.6
15 | TON | T38,+2 | 50 +3 85 AN | M22.0 | 120 A 10.4
16 | LPP 51 LD MO0.0 | 86 | SHRB | M10.0 | 121 | AN 10.5
17 EU 52 A 103 | 87 M20.2 | 122 | AN | M11.0
18 = M9.7 | 53 AN 106 | 88 +6 123 | AN | M21.0
19 LD M9.7 | 54 A 10.7 | 89 LD MO0.0 | 124 | AN | M22.0
20 @) M10.4 | 55 A 104 | 90 A 10.3 | 125 | SHRB | M10.1
21 @) M11.4 | 56 AN 10.5 91 AN 10.6 | 126 M11.2
22 @) M20.7 | 57 AN | M11.0 | 92 A 10.7 | 127 +3
23 @) M21.7 | 58 AN | M21.0 | 93 A 105 | 128 | LD MO0.3
24 = M10.1 | 59 AN | M22.0| 94 AN 104 | 129 A 10.2
25 LD M0.2 | 60 | SHRB | M10.0 | 95 AN | M11.0 | 130 | AN 10.7
26 @) M10.4 | 61 M11.2 | 96 AN | M12.0 | 131 A 10.6
27 @) M114 | 62 +3 97 AN | M21.0 | 132 A 10.5
28 @) M20.7 | 63 LD | M20.2| 98 | SHRB | M10.0 | 133 | AN 10.4
29 @) M21.7 | 64 ) M20.3 | 99 M21.2 | 134 | AN | M11.0
30 = M10.0 | 65 ) M20.4 | 100 +6 135| AN | M120
31 LD M10.2 | 66 ) M20.5 | 101 | LD 100 | 136 | AN | M22.0
32 (@) M10.3 | 67 ) M20.6 | 102 | EU 137 | SHRB | M10.1
33 @) M10.4 | 68 ) M20.7 | 103 = MO0.3 | 138 M20.2
34 = M11.0 | 69 = M21.0 | 104 | LD MO0.3 | 139 +6
35 LD M11.2 | 70 LD | M21.2 | 105 A 102 |140| LD MO0.3
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141 A 103 |152| LD | M10.2 | 163 o) M20.5 | 174 @) M20.5
142 | AN 10.7 | 153 ) M11.2 | 164 o) M20.6 | 175 @) M21.5
143 A 106 | 154 ) M20.2 | 165 ) M20.7 | 176 @) M21.6
144 A 105 | 155 ) M20.3 | 166 ) M21.3 | 177 @) M21.7
145 | AN 104 | 156 ) M20.7 | 167 ) M21.4 | 178 = M21.7
146 | AN M11.0 | 157 ) M21.2 | 168 ) M21.5 | 179 | LDN 10.1
147 | AN M12.0 | 158 ) M21.3 | 169 = Q0.3 | 180 R MO0.0
148 | AN M21.0 | 159 ) M21.7 | 170 | LD | M10.3 | 181 255
149 | SHRB | M10.1 | 160 = Q0.2 | 171 o) M11.4 | 182

150 M212 | 161 | LD |M104 | 172 ) M20.3 | 183

151 +6 162 ) M11.3 | 173 ) M20.4 | 184
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PLC

SB4
SB2

L1

SB1
SB2
SB3
SB4

10.1
10.2
10.3
10.4

SB3

L1 Q0.1
L2 Q0.2

SB1

L2
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17-1

1 LD 10.4 14 | LD T38 | 27 LD | M10.3 | 40
2 LD MO0.3 15 | EU 28 A 101 | 41
3 |CTU | C1+1 | 16 = M0.3 | 29 | OLD 42
4 LD Q0.1 17 | LD C1 30 | SHRB | M10.0 | 43
5 ED 18 | EU 31 M10.1 | 44
6 = MO0.1 19 = M10.0 | 32 +4 45
7 LD MO0.1 20 | LD | M10.0 | 33 LD | M10.1 | 46
8 0] MO0.2 21 | LD | M10.1 | 34 @) Q0.2 | 47
9 AN MO0.3 22 A 103 | 35| AN | M10.2 | 48
10 = MO0.2 23 | OLD 36 = Q0.2 | 49
11 LD MO0.2 24 | LD | M10.2 | 37 LD | M10.3 | 50
12 | AN MO0.3 25 A 102 | 38 AN | M104 | 51
13 | TON | T38,+20 | 26 | OLD 39 = Q0.1 | 52
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PLC

PID

PLC+A/D+D/A

18-2 18-3

EM235

PID

PLC 17

EM231+EM232
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36

(PVn) 00 1.0
(SPn) 00 1.0
(Mn) 00 1.0
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EM235 DIP
SW1 SW2 SW3 SW4 SW5 SW6
ON OFF OFF ON OFF ON 0~50mV 12.5uV
OFF ON OFF ON OFF ON 0~100mVv 25V
ON OFF OFF OFF ON ON 0~500mVv 125pVv
OFF ON OFF OFF ON ON 0~1v 250pV
ON OFF OFF OFF OFF ON 0~5v 1.25mV
ON OFF OFF OFF OFF ON 0~20mA SpA
OFF ON OFF OFF OFF ON 0~10Vv 2.5mV
ON OFF OFF ON OFF OFF -25~25mV 12.5pV
OFF ON OFF ON OFF OFF -50~50mV 25V
OFF OFF ON ON OFF OFF | -100~100mV 50pVv
ON OFF OFF OFF ON OFF | -250~250mV | 125uV
OFF OFF ON OFF ON OFF -1~1V 500puV
ON OFF OFF OFF OFF OFF -2.5~2.5V 1.25mV
OFF ON OFF OFF OFF OFF -5~5V 2.5mV
OFF OFF ON OFF OFF OFF -10~10V Smv
EM231 DIP
Swi SW2 SW3
ON OFF ON 0~10V 2.5mV
ON ON OFF 0~5Vv 1.25mV
ON ON OFF 0~20mA S5pA
OFF OFF ON -5~5V 2.5mV
OFF ON OFF -2.5~2.5V 1.25mV
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MAIN

SBR_O

1,

1,

—

—_ O

SBRO

EN
MOV R
EN ENO =
1.0 IN OUT =vD104
MOV_R
EN ENO f=
1.0o IN OUT |—=vp112
MOV_R
EN ENO =
0.1= IN OUT f=vD116
MOV_R
EN ENO |~
1.0 IN OUT }=VD120
MOV_R
EN ENO =
0 — IN OUT |~ D124
MOV_B
EN ENO |—
100— IN OUT |- smB34
ATCH
EN ENO =
0 — IN
10 —EVNT
¢

18-1 PID

100%

100ms

0.1

PID



INT_O

1,

1,

EN ENO |-
Alwo= IN OUT = ACO
DI_R
EN ENO |-
ACO=— IN OUT = Aco
DIV R
EN ENO {—
ACO=f IN1 OUT |= ACO
32000 IN2
MOV_R
EN ENO |~
ACO— IN OUT |=VD100
0 PID
i EN ENO f—
VB100 = TBL
0 =—jLOOP
0 MUL_R
b EN ENO |—
VD108 =f IN1 OUT = ACO
32000 = IN2
ROUND
EN ENO [—
ACO = IN OUT = ACO
DI_I
EN ENO [—
ACO = IN1 OUT |= ACO
MOV_R
EN ENO [—
ACO —f INL OUT [~ AQwo
18-1

PV
PV
32
PV
PID
Mn 16
Mn
16

32

TABLE
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+ -

w24V
+

UL
- [y AL +
Rt
BEE B
18-2
D/A
A/D
18-3 PID
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PLC

1
-10V~+10V 12V~+12V
0 +12V
12V oV
PID
PID
,[: .
— — AB
PID
PID
PID PLC+D/A PID 19-2
19-3
PLC 17
A 106 B 0.7 1M +24V EM235
VO,MO —

EM235 EM231+EM232
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36

0 (PVn) 00 10
4 (SPn) 00 1.0
8 (Mn) 00 1.0
12 (Kc)

16 (Ts)

20 (T)

24 (To)
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EM235 DIP
SW1 SW2 SW3 SW4 SW5 SW6
ON OFF OFF ON OFF ON 0~50mV 12.5uV
OFF ON OFF ON OFF ON 0~100mVv 25V
ON OFF OFF OFF ON ON 0~500mVv 125pVv
OFF ON OFF OFF ON ON 0~1v 250pV
ON OFF OFF OFF OFF ON 0~5v 1.25mV
ON OFF OFF OFF OFF ON 0~20mA SpA
OFF ON OFF OFF OFF ON 0~10Vv 2.5mV
ON OFF OFF ON OFF OFF -25~25mV 12.5pV
OFF ON OFF ON OFF OFF -50~50mV 25V
OFF OFF ON ON OFF OFF | -100~100mV 50pVv
ON OFF OFF OFF ON OFF | -250~250mV | 125uV
OFF OFF ON OFF ON OFF -1~1V 500puV
ON OFF OFF OFF OFF OFF -2.5~2.5V 1.25mV
OFF ON OFF OFF OFF OFF -5~5V 2.5mV
OFF OFF ON OFF OFF OFF -10~10V Smv
EM231 DIP
Swi SW2 SW3
ON OFF ON 0~10V 2.5mV
ON ON OFF 0~5Vv 1.25mv
ON ON OFF 0~20mA S5pA
OFF OFF ON -5~5V 2.5mV
OFF ON OFF -2.5~2.5V 1.25mV
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MAIN

=
o
—

=ﬂ

SBRO

{

MO.

_— O

S
::::{

EN
0 IN OUT = AqQwo
1D_1
EN ENO |—
AIWO=—{ IN OUT = Aco
DI_R
EN ENO |=
ACO=—{ IN OUT |= Aco
DIV_R
EN ENO |—
ACO— IN1 OUT = Aco
32000—} IN2
MOV_R
EN ENO |—
ACO=— IN OUT |=vD100
19-1 PID

TERM  RUN 1 RUN
smo_w
—] 7 EN ENO

PV
PV

32

PV

TERM 0O

TABLE
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SMO.O MOV_B
L
SBR_O EH f EN ENO |~ 1X
16#FC— IN OUT {— smB47
HDEF HS1 9
EN ENO =
1= HSC
9 —{MODE
MOV_DW HSCl
EN ENO =
0 IN OUT k= SND48
MOV_B 0
EN ENO = 100ms
100— IN OUT |~ smB34
ATCH PID
EN ENO [—
0 — IN
10 —{EWNT
0
¢
¢ BNl )_/
HSC HSC1
EN ENO }—
1 IN ouT
SM0.0 MOV_R 1
% H EN ENO |—
1.0= IN OUT E=vD112
MOV_R 01
EN ENO |~
0.1~ IN OUT E=VD116
MOV_R 1
EN ENO }—
1.0~ IN OUT = VD120
MOV_R
EN ENO =
0 IN OUT =VD124
19-1
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INT_O

1,

1,

—_O

—_— O

MOV_DW

HSC1
EN ENO =
= Y OUT - swDw48
MOV_B
EN ENO =
16#C0 = IN OUT = smB47
MOV_DW
EN ENO |~
HCl — IN OUT L-\D10
DI_R
EN ENO =
VD10 = IN OUT L=vp20
DIV_R
EN ENO =
VD20 =f IN1 OUT }= vD100
200 = IN2
DIV_R
EN ENO |=
VD100 = IN1 out hmao\
2 I
VD100
ADD_R
EN ENO |=
VD100 = IN1 OUT }= vD100
0.5 = IN2
HSC HSC1
EN ENO =
1 = IN out
PID PID
EN ENO =
VB100 = TBL
0 =HLOOP
SUB_R
EN ENO |~
VD108 =f IN1 out hu\ Mn
0.5 =fIN2 Mn
MUL_R
EN ENO |=
ACO =fIN1 OUT k= Aco
64000 = IN2
ROUND
EN ENO |=
ACO = IN OUT = Aco
DI_I 16
EN ENO |=
ACO =f IN1 OUT |= ACO
MOV_R
EN ENO =
ACO =f IN1 OUT |= QU0
19-1

16

0ID

32
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PID

D/7A

19-2 PID
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